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10:20 120 50.0 5 BRi&@10:20 (KBERER)
11:20 120 50.0 |Z= BRige11:20 (kPHERE)
12:35 120 50.0 (&= BRi%@12:35 (FKAIEREE)
14:00 120 50.0 |Z & BRige14:00 (KBHERERE)
231+11080.0 (9%) 450. 0 323 KEC: 1848.0, PH: 6.3

TERRHER 2 STEIEARTF (66.0 :

ZRIASEBRIERES0. 0 ml.

50.0), FIEEAAT—@%E X5

unusual large postFgEt from yesterday (165), set to 150.0 ml.

HE[ERECE (2140. 0 vs 3045. 0) i

=




P3-13_0, Day=8 (2025-04-08)
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190 186
| Warning: lcol [FVI',| "FVO’'] missing
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W
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o
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N
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o

FRV (ml d-1)

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1848.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.3

Warning: lcol ['PHB’,| 'PHC’'] missing
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ET (ml/hr/plant)

50

]
Bylnit @11 P3:07: ET=648 Fg=880.0 Ro=150.0
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ByWoFv @D11 03:07: ET=313 Fg=450.0 Ro=65.0
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—_—
o | _obs
PPFD_obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=480, FV0=0
1.0 1.0
0.8 4 0.8+
0.6 0.6 1
0.4+ 0.4+
0.2 ~ 0.2 A
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
0- 0 T T T T 0 0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=690, FVO0=0 m=720, FVO0=0
1.0 1.0
0.8 A 0.8 1
0.6 - 0.6 -
0.4 0.4
0.2+ 0.2+
Warning: col ["M_E’] missing Warning: col ["M_E’] missing
0. 0 T T T T O 0 T T T T
0.0 0.2 0.4 0.6 0.8 1 0.0 0.2 0.4 0.6 0.8 1.
m=480, FV0=0
- MW
62 - 62. 4 -
611 62. 2
60
62. 0
59
61. 8
58
61.6 -
500 600 700 800 90 480 485 490
m=690,m FV0=0 m=720,m FV0=0
60.2 1 —o— MW —— MW
59. 8 A
60. 0 59. 6 -
59. 4 A
59. 8 A
59. 2 1
59. 6 59. 0 -
690 695 700 720 725 730

m=540, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=780, FV0=0

—_

Warning: col ['M_E'] missing

o

0.2

T T
0.4 0.6 0.8

m=540, FV0=0

—_

62. 25

62. 00

61. 75

61. 50

61.25

61. 00

—o— MW

540

5&5 560
m=780,n FV0=0

59.0

58.5

58.0

57.5 -

-— MW

780

785 790

61.

61.

60.

60.

60.

60.

60.

58.

58.

58.

57.

57.

m=600, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8 1.

m=840, FV0=0

Warning: col ['M_E’] missing

0.2

T T
0.4 0.6 0.8

m=600, FV0=0

—_

8 4

6_

4 4

2 4

0 -

—o— MW

600

665 6%0
m=840,n FV0=0

- MW
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P3-13

BYiE) | GEBIRTIK (D) | EBE (EAH/#K) | XS ERE

06:40 120 70.0 |Z=& BR1%@06:40 (KAL)
07:30 120 70.0 |Z =& B1%@07:30 (KRFERE)
08:20 120 70.0 |Z =& 1B21%@08:20 (ARFERER)
09:10 120 70.0 |Z=& ’Ri1%@09:10 (KBfERE)
10:00 120 70.0 |Z =& B1%@10:00 (KRFERE)
10:50 120 70.0 |Z =& 21%010:50 (KRFEREE)
11:45 120 70.0 i BRi%@11:45 (kRPAIERSE)
12:50 120 70.0 R RRi%@12:50 (K &%)
14:00 120 70.0 R BRige14:00 (KPHEREE)
15:05 120 70.0 i BRi%@15:05 (FKPIERSE)
23t+]1200.0 (100%) 700.0 323 KEC: 1900.0, PH: 6.4

TERRHER 2 STEIELTF (66.0 :
EORGEBETAK (120. 0) STuHA (167. 0) A FF, W HEH T % WREIER S % XEH

ZRIASEBRIEBES0. 0 ml.

HEERECE (2105. 0 vs 2935.0) RS

50.0), ATREAF—@% XA 145




P3-13_0, Day=7 (2025-04-07)

————————————————————————————————————————————————————————————————————————————————————— - 600
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501 [ 400

40 432 %0 310
190 i
20 200
Warning: lcol [FVI',| "FVO’'] missing

0 -

FRV (ml d-1)

FRV (ml plant-1)

—_

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6. 4

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1500
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=480, FV0=0
1.0 1.0
0.8 4 0.8+
0.6 0.6 1
0.4+ 0.4+
0.2 ~ 0.2 A
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
0- 0 T T T T 0 0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1
m=690, FVO0=0 m=720, FVO0=0
1.0 1.0
0.8 A 0.8 1
0.6 - 0.6 -
0.4 0.4
0.2+ 0.2+
Warning: col ["M_E’] missing Warning: col ["M_E’] missing
0. 0 T T T T O 0 T T T T
0.0 0.2 0.4 0.6 0.8 1 0.0 0.2 0.4 0.6 0.8 1.
m=480, FV0=0
—— MW —— MW
62 _ 62 8 T
62. 6
60
62. 4
58 - 62. 2
62. 0
56
61.8
500 600 700 800 90 480 485 490
m=690,m FV0=0 m=720,m FV0=0
- MW - MW
60. 0 - 60. 0 +
59. 8 - 59. 8 -
59. 6
59. 6
59. 4 A
59. 4
59. 2 A
690 695 700 720 725 730
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56.

56.

55.

m=540, FV0=0

Warning: col ['M_E'] missing

0.2

0)4 0f6 |
m=780, FV0=0

0.8 1.

Warning: col ['M_E'] missing
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m=600, FV0=0
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Warning: col ['M_E'] missing
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m=840, FV0=0
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Warning: col ['M_E’] missing
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